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Note : Attempt all questions.

frder 2 (3) T wEE 1 aRfTe yvE § ) s i gus Fowwz (H),

g

() W@ @UE (W) | @gug (A) | agfameda @, @z

(%) ¥ 3 dey sifey w@ @vg (9) A fga e #5t gfd
} wifrd w1 & | 7% @us A 5 g & au ves I W
37 ameifea ¥

Instruction : (A) Question No. 1 is an objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
choice type questions, Part (B) has Match the following and
Part (C) has Fill in the blanks. Each part has 5 questions.
Each question carrics | mark.

uv-1  (W@Ug-31 ) qel fasen e fafae [1x5=5]
(Part-A) Choose and write the correct option :

(i) UEETHEHE T Y7

(37) B9

(&) g9

(§) #AVE (2) o e
What is Endosulfan?

(a) Oil

(¢) Insecticide

(b) Drinking water
(d) Iron
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wift wifa &1 AW
( 3 =fea
(&) fgzemt

(&) afm

(®) R ey

The leader of the Russian Revolution was :
(@) Sualin
(b) Hitler
(¢) Lenin

(d) Czar Nicholas

WA g ¥ -

(37) AA-wrE g
() Tieen 38

(7) o= =t feufa
(?) IwwA H gg
The Cold War s :
(a) Face to face war

(b) Guerilla war

{c) Tense situation

(4) Warmhe sky
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(37 v
(F) WIS &1
(%) WapT o9
(3) W
Crop production of
(@) Jwar (Sorghum)
(b) Millet
(¢) Com
(d) Wheat
i % ferg s1<ier 1 e ww
(30 Ig H I
() F.yeem
() T srex-yret A%
(2) 3T |3t
The main aim of Pecace Movement is :
. (@) stop war
(b) - disarmament
(¢) ban on atomic weap On-s

(d)  All of theabove
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(wve-a) 3faq gy Sifgn . - [Lxsss
| (%) (@)

(i) R = e L (o) el F SRR

(i) AT, . (=) o

(i) =g St Hon L () T

(iv) TR, foers, Fearl -
(v) _Eﬂlﬁ [ -
(Part-B) Match the following :
(A) (B)
| (f) “Alternative of coal - (a) on production of goods

(i) PD.S. - (b) commercial groups

(iify New Deal Declaration - (c¢) atomic energy

(5‘) providing foods

(iv) Doctor, Teacher, Employee

(v) Excise duty - {(e) by America
(avs-u) faa @l w1 g Fif [1x5=¢
(Part-C) Fill in the blanks : o
() e s 2 ol wem af e — ot
The first Indian language magazine was

(i) TTIOT & < A Bt WiAfE —— SheAr st 9 enervasma o €

People in rural area require calories of energy daily.

- (iif) R i @3- 1 faern — A g ¥ 1

. Details of the government’s revenue-expenditure are in the
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(iv) el B 8 i — it e 4

“The land left without use is calléd. |

| —

(v) IR 3 e ot <11 S s % S o), e — e

The first ﬁlm in India was made by Dada’ Saheb Phalke

whose name was ___
Fder :(a)wmzﬁsﬁmmﬁimmﬁ
- 2 3 e ) (S| w) Afieman = 30 v ¥)

Instruction ':. (B) Question Nos. 2 to 6 are very short answer type questions.
| Each question carries 2 marks. (Maximum word limit of

answer is 30 words) http /I'www.cgboardonline.com

YyA-2 wﬂnmm@m%? _ | 2]

What is consumption expenditure?
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-3 3 X G frafa w1 s fafa ' 3 [1+1=2]
Write the difference between import and cﬁport tax.

W-4 TRwRaFJWifafan | [1+1=2]
Write two names of Zayéd crops. o i

W5 TEffm v wm e Fgsn? _- @

How was llie country of Nigeria born?

“‘ﬂwmz? 2]

What is mean; by energy?
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. :(a)mm7ﬁ10mwﬂﬂqmtlmm“
3 3% Ffed ¥1 (I M iferry gy 50 Tz gy

Instruction : ) Question Nos. 7to 10 are very short answer type questiong
Each question carrics 3 macks. (Maximum word limiy of

answer is 50 words)

UA-7 vt g% A o vl # o e ot

What was the role of atomic weapons in Cold War? B
wr-8  Fraafivd s ® fa_'q‘tm.z'\ﬁm o
Give details of Niyamgiri Movement.
A9 W%M%Wﬁmmmm%v By
How has globalization affected the lives of workers?
WEI-10 3T, MR SHEATH g HAAvSE & @ 2 3 e fefag B

Write reasons why Dr. Bhimrao Ambedkar resigned from the Cabinet.

Fer : (Q) mmnﬁmmaﬂmﬂqmiiﬁmmﬁmaﬁa:

fohed ¥ 1 5ol T W 4 S amifen ¥ (T H fyway
v=-dm 75 g ¥)

Instruction : (D) Question Nos. 11 to 14 are short answer tjpe questions.

Each question has internal option. Each question carries

4 marks. (Maximum word limit of answer is 75 words)

711 7o fava 35 & =i IR v fataw) - [+

Write any four reasons of First World War. - -
37941/ OR

7 A e 9 g2 5 W v AR R w0
g When was the Treaty of Versalllcs took place? What were the mam o
tenns of this treaty‘? Explam |

[ ;
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foran v & 2 5 3T SRy W Moty WWRY i
w. o. mﬁm_“ -
L. Ay 5am
2 |fwem
3 | iR
4 |fE St ufeen ————
—_—

Thedy =51 avmiin fp wam

[1+1+1+1=4)

Some names are given in the lable. How do they use 50il? Fill in Your

answer book in table form :

St No. Persons Use of soil
1 Potters
2 Farmers I—
3 Artisans of Sculpture S
4 Women of Village L
UG/ OR

Friferd 9 =9 | 9RA TF BHeTe & it 3w (2011) wefivi fem
T €1 39 91 1 AT H 3R T wel I E
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(a) e I W w yhem s W GET o ol
Wy
(R) g LR g A e A fit e
STR? a
(D WA A sremoswem g @ s o @ T
TR ?

f India and
The following pic charts arc showing the land us¢ © e
e following
Chhattisgarh (2011). Secing these charts answer th

questions :

Land Use : India Land Use : Chhattisgarh

(@) For which type of land the percentage of land is more in
Chhattisgarh state than India?

(b) F'o.r- which type of land the pcrcentége of land is less in
Chhattisgarh state than India? e -

(¢) For _which type of land the percentage of land is dﬁuble in
Chhattisgarh state than India? |

(d) Which two different type of land have equal pefcentage in

o Flhhgnisgarh state and India? '
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“5 13 m#mmm%ﬁmwm(m T
!

_ S T
Explain how census data is useful for yg (any four), I+1=4)

HIqT/ OR

meﬁmmﬁ,ﬁ?w(mml -

Explain how population explosion is deadly for society (any four)

w14 feeer ok gEferd TN F Fwn woeEd off? fefay
(Frg ) | (1+14+1+1=4]
What were the similarities between the dictators Mussolini and
Hitler? Write (any four).
34T/ OR
TeeR R ofi TR A SR @ sk fewwm ¥2 fafww
(¢ =) | |
V;fhat diffefenpesg' do you see between nationalism. and extreme
nationalism? Write (any four).
R :(3) 99 i 157d 16 ERTT T ¥ 1T W H A
. faEer ¥ TE T W 5 I ATETA §1 (IW R Afewa
| W—%ﬁm_mm%‘_) 5
Instruction : (E). Question Nos. 15 and 16 are long answer type questions.

Each question has internal option. Each question carries

5 marks (Max1mum word hm1t of answer 1s 109 words)

W15 i s s e e T a?rFaq | S

Write. the dlfferences between rural, scttlcment and urban

settlement (any five).
http://www.cgboardonline.com
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3reraT/OR
TRIT Afiramy Feafst = wanfer 7 At wrew fafom, (R ofen) |

Write the £ . ,

Vrite the factors nfluencing the origin of urban scttiements (any five).
-1
° TR g o sin e 3Pt AT ey greft &, A 5T s o
%W"‘Wé‘rﬁ% FA ? JuwEon @ AUzE) (5]

Facility of loan on one hand increases our income and on the other

hand we are canght in the net of loan, how? Explain with example,

3rerE|r/OR
1 & WA T anyfyes ey W feogoft fafaq | [2V+2Y=5]
Write a note on the ancient and modern structure of currency.

e . (%) T wEiE 17 wd 18 deewta v § | 90 7 H AfE
fweq ¥ | Y& I T 6 oi SEfd © | (ST H Sifuswam

VIsI-HIHT 750 915 )

Instruction : (F) Question Nos. 17 and 18 are long answer type questions.

Each question has internal option. Each question carries

6 marks. (Maximum word limit of answer is 150 words)

_;ﬁm—w Tagr fHA-fFT SR @ wagE 9 § 9 1T @d 2 WR S
(F7% B7) | | [1+1+14+1+1+1=6)

Explain for what reasons voters do not participate in the voting

prdcess (any six).

3771/ OR

mﬂwmmmmﬂ%r'm%ﬂgﬁﬁw@
"_ﬁ-—g*aﬂﬁmaﬂﬁm

“The nght to form an orgamzanon is essential in a democracy

' Explam the importances of organization in six pomts
' http://www.cgboardonline.com
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I - c il + (=00
ATT-18  Fratam (gmme) s & : sl 1 feras zamen it (1ialelotsi=0]
Write six functions of the Elcction Commission and explain.

arerar/OR

ot 3 g el @ A B oA A

Explain the powers and functions of President of India.

..........

http://www.cgboardonline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
Foer QU= dad $or 3R 10 v ar,
Paytm or Google Pay &

http://www.cgboardonline.com

WO dUIUOPIROq3d Mmm //:dny



